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A minor girl who was betrothed without her father’s knowledge

Overview
X1 ruled that a 71vp who was nwTpn without her father’s knowledge requires both
a v and 18 to leave her husband.! mpoIn broadens the scope of this ruling.
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And it is the view of N1901n that the same rule applies by a 791, where there is

a novelty in this ruling both according to ' according to "' -
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And also according to >''1 according to everyone (even the p"n of 7777 ).

Mmoo responds to an anticipated difficulty:
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And X2 only mentioned 72wp and not 77v1 (even though there is a w17°1 by 172
as well®), because by 71 it is not applicable to say, ‘she requires 718"’, since

there is no 8°2 by a 791 -
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As the X723 states, ‘until when can the daughter be nix»»; until she brings two
hairs’ (which disqualifies a w1 from 11X%).

Summary

' The law of 118" applies to an orphaned m1vp, who her brothers or mother married her off. This marriage is valid only
112777, and as long as she is still a 71vp, she can leave the marriage by merely saying she wants to leave. This is called
R,

2 The w7 is that she requires a poon va.

3 777 '3 (on 2,3) maintains that a 707%%7 7791 cannot be w3 9apn. This rule applies to w17°p as well, according to
5". Therefore YRmw teaches us that if the 77w1 was 7R nyTn XYW PP 22pn, she too requires a poon vi. However
according to the >"37 "n who maintains that a 707777 7791 can be 7% 93pn, and according to " the same applies to
P17R (because of N M ARXM), so the 771 is "R NwWTIPA (and requires a *RT71 03).

471 "1 maintains that regarding Pw1Tp all agree (even the p"n) that a (7°28 MW"2) 77v2 cannot be PWITP 2apn,
therefore if she was 728 n¥72 KW PWITP 22pn she needs a poon va (like a mvp).

5 See ‘Thinking it over’ # 1.

6 Hx1mw wanted to say the W7o that ar nyT» X5w mwpN1 requires both v and 1X°n, therefore he could only say this
rule by a 71vp, but not by a 77v1. However a 7171 too, may require a p90n 3 as mentioned previously.

7 A 71 by definition is a woman who has Mww nw.

8 See footnote # 2.

° A m1op man® who was wTpn1 through her brothers or mother and remained with her husband until she became a 773,
she is completely married to him and she requires a vx to leave him; 1% is no longer effective. The same rule
obviously applies to a 771 who was m°aR nvT2 X7 PwITpP 22pn, that she certainly cannot be j8n7.
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In the case where a 771 cannot be PW P 9apn, she requires a poon vi if she was
AR nYTH YW awTpni (but no NXN).

Thinking it over

1. mooIn asks, why YR1w mentions only a mvp, but not a 7w1.'° Seemingly the w17°n
by a mvp is much greater that even though she has no 7° (as opposed to a 77v2),
nevertheless she requires a poon vA?!!!

2. The R 3 explains the reason a 7°aK nY72 XYW nWIpNIW 71vR needs XM in order
that people should not mistakenly assume that 7mnx2 poon PP PR, What (if
anything) needs to be done by a a8 nv7> KXW AWTPNIw 771 to allay this concern.!?

10 See footnote # 5.
11 See noT minxy
12 See "R NDOIN.
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